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QUESTION 1

Refer to the exhibit. In the distributed Cisco Unified Contact Center Enterprise design with multiple Cisco Unified
Communications Manager clusters as shown in the exhibit, what is the impact if Agent 2551 transfers a call, routed to
that agent by Cisco Unified CCE, directly to Agent 1233 using the agent extension 3311? 

A. Agent 1233 could get an ACD call routed by Cisco Unified CCE on extension 3311. 

B. Cisco Unified CCE would reject the transfer across the intercluster trunk automatically. 

C. Agent 1233 would get the call, but without any screen pop or CTI data. 

D. Cisco Unified CCE provides cradle-to-grave reporting on the call once it is sent to Agent 1233. 

E. The call would only work if both agents were using either CAD or CTI OS desktops. 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. In a Cisco Unified Contact Center Enterprise call flow, the Cisco Unified IP IVR application is used
to queue calls during business hours, or plays the system generated "goodbye" prompt. In testing this call flow, all
callers are hearing the "goodbye" prompt, even during business hours. In order to correct this error, which Cisco Unified
IP IVR step needs to be moved in the flow shown in the exhibit? 
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A. Get Enterprise Call Info step 

B. If step 

C. Play Prompt ("goodbye") step 

D. Play Prompt ("ICMStayOnline") step 

E. Label ("PlayPrompt:") step 

Correct Answer: E 

 

QUESTION 3

Refer to the exhibit. In a Cisco Unified Contact Center Enterprise deployment, the Cisco Unified ICM Call Routing Script
shows one call failed in the Translation Route to VRU node. How will the system treat this call? 
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A. If a Default Route is configured on the Peripheral, the call is redirected to the number configured under "Forward On
Failure" on the CTI Route Point used for the Dialed Number in Cisco Unified Communications Manager. 

B. The caller would hear the default error prompt from the Cisco Unified IP IVR. 

C. The script would return the label 8000, so the call is redirected to the extension 8000 in Cisco Unified
Communications Manager. 

D. If a Default Route is configured on the Peripheral, the call is rerouted to the Default Route. 

Correct Answer: D 

 

QUESTION 4

Drag and drop the Cisco Unified Communications Manager tool on the left to its function on the right. 

Select and Place: 
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Select and Place: 

Correct Answer: 
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QUESTION 5

Refer to the exhibit. After reviewing the CTIOS log shown in the exhibit, identify the "final" agent state for these agent
IDs. 

10771 99960 

A. Agent 10771 is TalkingAgent 99960 is BusyAgent 99920 is Talking 

B. Agent 10771 is AvailableAgent 99960 is TalkingAgent 99920 is Reserved 

C. Agent 10771 is ReservedAgent 99960 is AvailableAgent 99920 is Talking 
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D. Agent 10771 is BusyAgent 99960 is ReservedAgent 99920 is Talking 

E. Agent 10771 is ReservedAgent 99960 is ReservedAgent 99920 is Busy 

Correct Answer: C 
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